Prénom & ..o DO & e

9 1x1= g;g:;g 8x8 =64

x1 2x2=4 4% b =3¢ 9x9=38]
- 3x3=9 7% 7 = 49 10x10=100

e Complete :
3x8=24 6x3=18 4x9 =236 6x2=12 4x8=232
6x4=24 5x7=35 10x3=30 8x5=40 3x7/7 =21
3x9 =27 6x2=12 O0x2=0 2x9=18 4x9 =236
6x5=30 8x4 =232 3x4=12 10x2=20 3x5=15
S5x10=50 9x2=18 1 x8=8 6 X8 =48 5xX9 =45
2x8=16 3x7/ =21 5x7=35 5x9 =45 6x5=30
9x5=45 4x4=16 3x6=18 6x5=30 1x9=9
4x7 =128 2x5=10 4x 10 =40 /X3=21] 4x7 =128
e Pose en colonnes et calcule :

43 x 7 =301 58 x 5 =290 94x8=752 76 x 6 =456

‘43 ‘58 9 4 76

x 7 X 5 x 8 X 6

301 290 752 456

807 x9 =7 263 159 x 4 = 636 494 x 7 =3 458 641 x8=5128

807 1’59 “4°9 4 641

X 9 x4 x 7 x 8

7263 636 3458 5128
1702x6=10212|3840x5=19200|2805x4=11220|9034x9 =281 306

‘1702 ‘3%8 40 2805 9°0°3 4

X 6 X S X 4 X 9

10212 19200 11220 81306

e Complete les tableaux ci-dessous :

X116 | 7|9 5|3 | 4 X118 |9 5|0 |7 ] 6
1 6| 719215 ]3] 4 6 148 |54 30| O | 42| 36
OjJjo|(O0O|[O0O|O0O|0]|O0 7 156 |63|35] 0 |49 | 42
4 |24 |28 3620|1216 4 |32136|20| O |28 |24
5130351452515/ 20 1 819|150 |7 6
7 142 |49 | 63|35 21| 28 1080|9050 O | 70 | 60
8 |48 |56 | 72|40 |24 | 32 211611810 0 | 14|12
10| 60 | 70 | 90 | 50 | 30 | 40 5140 145|125 0 | 35|30




